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A 1: Assign to the following ACF graphs the appropriate stochastic process.

(1) (2)

(3) (4)

(5)

a) Yt = 0.5εt−4 b) Yt = 0.5εt−1 + 0.7εt−2 + εt

c) Yt = 0.4Yt−1 + εt d) Yt = 0.9Yt−1 + εt

e) Yt = εt f) Yt = 0.7εt−1 + 0.6εt−2 − 0.3εt−3 + εt
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A 2: Are the following stochastic processes stationary and ergodic Argue why

(or why not)

(1) Yt = 0.9Yt−1 + 0.1Yt−2εt

(2) Yt = 0.3Yt−1 + 0.3εt−1 + εt

(3) Yt = 0.4Yt−1 + 0.5Yt−1 + 0.1εt−1 + 0.5εt−2εt

(4) Yt = Yt−1 + εt

(5) Yt = 0.3εt−1 + 0.2εt−2 + 0.1εt−3 + εt

A 3: Decide, based on the Eigenvalues of the matrix F, whether the respective

AR processes are stationary and ergodic.

(1) F =





0.6 −0.4

1 0



 , (2) F =











0.4 0.8 −0.3

1 0 0

0 1 0











, (3) F =





1.2 −0.1

1 0





mit mit mit

λ1 = 0.30 + 0.55677644i λ1 = 0.91584462 λ1 = 1.1099020

λ2 = 0.30 − 0.55677644i λ2 = −0.88568851 λ2 = 0.090098049

λ3 = 0.36984389


